IIG, New Panvel

Invitation of Bids

1st Corrigendum

Tender Reference No.- IIG/21-22/818 dated 18.11.2021

Name of work: creation of meeting room with attached toilet facility at Registrar office, IIG Panvel

The following changes have been made in Bid Id No. IIG/Tender 08/2021

The cost of estimated bids will be **Rs. 2,48,912/-** instead of Rs. 2,71,232.40 (Fresh BOQ attached at Annexure I) DSR 21-22 CPWD

All other terms and conditions shall remain unchanged.

Annexure- I: Commercial offer form

	Quotation for the work of r Office, IIG, Panvel	neeting ro	om wit	h attached toile	t at Registrar
					in Rs.
Sr.No.	Description of works	Quantity	Unit	Rate	Amount inclusive of GST
1	Dismantling of existing Mosaic flooring.	10	Sqm	<mark>104.96</mark>	1049.63
2	Dismantling brick work	3	Cum	<mark>1908.72</mark>	5726.154
3	Dismantling of window	1	lum sum	<mark>465.87</mark>	465.8713
4	Providing first class Burnt Brick masonry of 4" thick with conventional/ I.S. type bricks in cement mortar 1:4 for Internal wall.	15	Sqm	1172.24	17583.54
5	Providing cement plaster on brick work 15-18 mm thick in cement mortar 1:4 with neat finishing, with addition of waterproofing compound in cement of approved make and manufacturer and curing etc. complete.	30	Sqm	490.31	14709.42
6	Providing and Laying cement Plaster 1" thick on slab with addition of waterproofing compound in it.	3	Sqm	506.05	1518.141
7	Excavation for Embedding all drainage line from new toilet block to the existing chamber.	3	mtr	<mark>469.02</mark>	1407.06
8	Providing dry/ trap/ granite/ quartzite/ gneiss rubble stone soling 15 cm to 20 cm thick including hand packing and compacting etc. complete.	1	Cum	606.85	606.85

9	Providing and laying Cast in situ/Ready Mix cement concrete in M15 of trap/ granite/quartzite/gneiss metal for Plinth beam, PCC and bedding for flooring including bailing out water, Steel centring, formwork, laying/ pumping, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete	1	Cum	11010.04	11010.04
10	Providing and laying Antiskid Ceramic tiles of approved quality of size 30 cm x 30 cm and confirming to IS 15622-2006 (Group-B IIA) for antiskid flooring in required position laid on a bed of 1:4 cement mortar including cement float, filling joint with cement slurry cleaning curing etc. complete	5	Sqm	1376.77	6883.837
11	Providing and laying ceramic tiles of having size 30 cm. x 20 cm. for dado and skirting in required position with back coat of cement mortar including joint filling with white/ colour cement slurry cleaning curing etc. complete	15	Sqm	1195.11	17926.58
12	Providing and fixing granite of 15 to 18 mm thick for door frame/ dado/ window boxing, basin Partition, urinal partition etc. On C.M. 1:6 including filling joints with polymer base filler nosing / moulding the sharp edges wherever necessary, curing, etc. complete.	3	Sqm	<mark>5258.65</mark>	15775.96
13	Providing and fixing in position powder coated aluminium louvered windows / ventilator of 2" X 1/2 " size with Exhaust Fan of approved quality etc. complete.	1	Nos.	<mark>7079.94</mark>	7079.94

14	Providing and applying ceiling 2 coats of Oil Paint and a coat of Primer on the internal ceiling of approved make M/s Asian, M/s Berger, M/s Nerolac, M/s JSW etc. Cost to include fixing and	30	Sqm	147.72	4431.705
15	removal of necessary scaffolding. Providing and applying Oil bound Distemper 2coats over a coat of Primer including surface preparation.	15	Sqm	182.67	2740.105
	PLUMBING WORKS			0.00	0
16	Providing and Fixing 110 mm PVC pipe for drainage purpose and taking it down and connecting it to chamber with all fittings.	11	Rmt	359.34	3952.686
17	Providing and fixing PVC bend of 110mm dia	4	each	148.34	593.3664
18	Providing and fixing PVC shoe bend of 110mm dia	4	each	130.30	521.2184
19	Providing and Fixing PVC Nahani Trap wait SS Jhali.	1	Nos.	1348.56	1348.56
20	Providing and fixing PVC Pipe of 75 mm for nahani trap and taking it down and connecting it to Chamber.	13	Rmt	239.37	3111.802
21	Providing fixing and supplying white Base Vitreous EWC with Seat cover Flush tank, Angle cock, PVC Connector and all other fittings and fixtures M/s. Jaguar / Kajaria /Cera / watertec make.	1	Nos.	<mark>7800.63</mark>	7800.633
22	Providing fixing and supplying Wash Basin Oval type with Bracket, Pillar cock, Waste coupling, Angle cock, Connector, Bottle trap, Flexible pipe and all other fittings and fixtures of M/s. Jaguar / Kajaria /Cera / watertec make.	1	Nos.	5104.75	5104.749

23	Supplying and fixing 2 in 1 Bib Cock with all its fittings	1	Nos.	<mark>2528.55</mark>	2528.55
	and fixtures of M/s. Jaguar / Kajaria /Cera / watertec make.				
24	Supplying and fixing Health Faucet with all its fittings and fixtures of M/s. Jaguar / Kajaria /Cera/ watertec make.	1	Nos.	2809.50	2809.5
25	Supplying and fixing Soap Holder with all its fittings and fixtures.	1	Nos.	108.73	108.7277
26	Supplying and fixing Mirror of size 600 x 450 mm with all its fittings and fixtures.	1	Nos.	1585.85	1585.85
27	Supplying and fixing GI Pipe for internal/external flow of water in toilet, wash basin with all fittings and fixtures of diameter.				
	20mm dia	5	Rmt	<mark>809.14</mark>	4045.68
	25 mm dia	30	Rmt	<mark>1011.42</mark>	30342.6
28	Providing and fixing 15 mm dia. screw down bib/ stop tap of brass including necessary socket union nut complete.	1	Nos.	803.57	803.5732
29	Providing and fixing Master Cock of 25mm dia with all its fittings and fixtures	1	Nos.	2022.84	2022.84
30	Providing and Fixing SS Towel Rod	2	Nos.	3034.26	6068.52
31	Providing and Fixing SS Toilet Paper Holder	1	Nos.	<mark>765.08</mark>	765.083
32	Providing and Fixing Coat Hook	1	Nos.	809.14	809.136
	CARPENTARY WORKS			l l	
33	Providing and Fixing ISI mark Flush door shutter of 35 mm thick block board with well matched Laminate on both sides.	1	Nos.	3468.16	3468.159
34	Repairing and making good the existing wondow	1	L.S	5057.10	5057.1

35	Providing and fixing granite	3	Sqm	<mark>5258.65</mark>	15775.96
33	of 15 to 18 mm thick for door	3	Sqiii	3238.03	13773.90
	frame/ dado/ window				
	boxing, basin Partition, urinal				
	partition etc. On C.M. 1:6				
	including filling joints with				
	polymer base filler nosing /				
	moulding the sharp edges				
	wherever necessary, curing,				
	etc. complete.			 	
36	Providing and fixing double			I	
	action hydraulic floor spring				
	of approved brand and				
	manufacture conforming to				
	IS: 6315, having brand logo				
	embossed on the body /				
	plate with double spring				
	mechanism and door weight				
	upto 125 kg, for doors,				
	including cost of cutting				
	floors, embedding in floors as				
	required and making good				
	the same matching to the				
	existing floor finishing and				
	cover plates with brass pivot				
	and single piece M.S. sheet				
	outer box with slide plate				
	etc. complete as per the				
	direction of Engineer-in-				
	charge.				
	With stainless steel cover	2	each	<mark>3092.70</mark>	6185.395
	plate minimum 1.25 mm				
	thickness				
37	Providing and Fixing ISI mark	2	Nos.	<mark>3468.16</mark>	6936.318
	Flush door shutter of 35 mm				
	thick block board with well				
	matched Laminate on both				
	sides with all its fitting and				
	fixtures like hinges, Pad bolt,				
	D handle, Tower Bolt etc.				
38	Extra for providing frosted	1.90	sqm	270.33	513.63
	glass panes 4 mm thick		'		
	instead of ordinary float glass				
	panes 4 mm thick in doors,				
	windows and clerestory				
	windows that elerestory window shutters. (Area of				
	opening for glass panes				
	excluding portion inside				
	rebate shall be measured).				
L	Tebate shall be illeasured).	j	l	1	

	Rs. Two lakhs, forty eight, nine hundred and twelve only				
	Total				<mark>248912</mark>
	carpentars				
41	Providing and supplying	5	Day	<mark>881.06</mark>	4405.296
40	Providing and Supplying Helpers	10	Day	802.39	8023.932
39	Providing and fixing 12 mm thick frameless toughened glass door shutter of approved brand and manufacture, including providing and fixing top & bottom pivot & spring type fixing arrangement and making necessary holes etc. for fixing required door fittings, all complete as per direction of Engineer-incharge (Door handle, lock and stopper etc.to be paid separately).	3.00	sqm	5102.84	15308.52

We are ready to execute above said work @	% (in words
%) above/below the estimated cost of Rs. 2	2,48,912.00. My rates are inclusive of all taxes GST
etc.	

Date;	Signature o
	Contractor
	Seal